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d2=np. sqrt (1-a+*2)*c2 oo e
dl=np.sqrt(1-a)=cl

b2=np.sqrt(d1sx2+d2#5%2)%np. tanh(Sknp.sqrt(dlsx2 ﬂ 6 -) ‘*’ Q 3_.: I.’_’_-* _»

bl=np.sqrt(d1sk2+d2+x2)/np.cosh(Sknp.sqrt(dlex2

Figure 1

newa2=b2#np.sqrt(1-a%k2)
newal=np.sqrt(1-a)*bl+np.sqrt(J*a)

return newal,newa2

N =

al=np.sqrt(J)

W W wwwwwwwmNn
~l O U1 I )

a=0.0178

def 1I(a,sal,sa2):
critl,crit2=aloop(sal,sa2,a)

while abs(critl-sal)+abs(crit2-sa2)>0.00001:
sal=abs((sal+critl)/2)
sa2=abs((sa2+crit2)/2)
critl,crit2=aloop(sal,sa2,a)

return (axe2xcrit2sx2/(1-as%2),critl,crit2)

N=100

x=[""]N 0.00
F[ll"]m
for 4 in range(N):

x[i]l=i/N%9.08

(yli),a1,82)=1(x[i],a1,82)
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In [162]: plot[x,y] S

matplotlib,pyplot.plot(x,y)
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